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QUESTION 1

Which two commands would you use to view OSPF routes? (Choose two.)
A. show ip route ospf

B. show ospf routes

C. show route protocol ospf

D. show route

Correct Answer: CD

QUESTION 2

Which two login-class permissions could permit a user to view the system hierarchy of the active configuration?

(Choose two.)

A. system permission

B. view-configuration permission
C. network permission

D. super-user permission

Correct Answer:. AB

QUESTION 3

Which statement is correct regarding IPv6 addresses?

A. An IPv6 address consists of 128 bits separated into eight 16-bit hexadecimal sections.
B. An IPv6 address consists of 64 bits separated into four 16-bit hexadecimal sections.

C. An IPv6 address consists of 128 bits separated into sixteen 8-bit hexadecimal sections.
D. An IPv6 address consists of 64 bits separated into eight 8-bit hexadecimal sections.

Correct Answer: A

QUESTION 4

Which two statements are true about TCP communication? (Choose two.)
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A. The receiver acknowledges the final packet in each communications stream.
B. The receiver adds sequencing numbers to the packets received.

C. The sender adds sequencing numbers to the packets it sends.

D. The receiver acknowledges each packet it receives from the sending device.

Correct Answer: CD

QUESTION 5

Which two prefixes would summarize the networks shown below? (Choose two.) 192.168.1.0/24 192.168.2.0/24
192.168.3.0/24

A. 192.168.0.0/23
B. 192.168.0.0/22
C. 192.168.0.0/24
D. 192.168.0.0/21

Correct Answer: BD
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